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Part 1: Building a Foundation

What is the term used to describe the maximum population size that an environment can sustain
indefinitely?

undefined. A) Birth Rate
undefined. B) Carryin g Capacity ✓
undefined. C) Doubling Time
undefined. D) Limiting Factor

The correct answer is 'Carrying Capacity', which refers to the maximum population size that an environment
can support.

Which of the following are considered limiting factors in population growth? (Select all that apply)

undefined. A) Food availability ✓
undefined. B) Predation ✓
undefined. C) Urbanization ✓
undefined. D) Birth Rate

Limiting factors include food availability, predation, and urbanization, but not birth rate.

Explain the difference between exponential growth and logistical growth in populations.

Exponential growth occurs when resources are unlimited, leading to a J-shaped curve, while
logistical growth includes environmental limits, resulting in an S-shaped curve.

List two factors that can cause a population to exceed its carrying capacity.

1. Factor 1
Overconsumption of resources
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2. Factor 2
Introduction of new species

Factors may include overconsumption of resources and introduction of new species.

Part 2: Understanding and Interpretation

In which stage of the Demographic Transition Model does the population growth rate begin to slow
down due to declining birth rates?

undefined. A) Pre-industria l
undefined. B) Transitional
undefined. C) Industrial ✓
undefined. D) Post-industria l

The correct answer is 'Industrial', where birth rates start to decline.

Which of the following statements about population pyramids is true? (Select all that apply)

undefined. A) They show the age and gender distribution of a population. ✓
undefined. B) A wide base indicates a high birth rate. ✓
undefined. C) They can predict future population trends.
undefined. D) They are used to calculate carrying capacity.

True statements include that they show age and gender distribution, and a wide base indicates a high birth
rate.

Describe how urbanization can impact population dynamics in both rural and urban areas.

Urbanization can lead to population growth in cities while causing decline in rural areas, affecting
resource allocation and social structures.

Part 3: Application and Analysis

If a population of rabbits in a forest is experiencing exponential growth, what would likely happen if
a new predator is introduced?
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undefined. A) The population will continue to grow exponentially.
undefined. B) The population will decrease rapidly. ✓
undefined. C) The population will reach carrying capacity faster.
undefined. D) The population will remain stable.

The population will likely decrease rapidly due to increased predation.

A country is in the transitional stage of the Demographic Transition Model. Which of the following
policies could help move it to the industrial stage? (Select all that apply)

undefined. A) Improving healthcare access ✓
undefined. B) Encouraging higher birth rates
undefined. C) Promoting education for women ✓
undefined. D) Increasing agricultural output ✓

Policies that could help include improving healthcare access, promoting education for women, and
increasing agricultural output.

Calculate the doubling time for a population with an annual growth rate of 2%. Show your work
using the Rule of 70.

Doubling time can be calculated as 70 / 2 = 35 years.

Which factor is most likely to cause a population to stabilize at its carrying capacity?

undefined. A) High birth rate
undefined. B) Limited resources ✓
undefined. C) Increased immigration
undefined. D) Low death rate

The correct answer is 'Limited resources', which restricts population growth.

Analyze the following scenarios and identify which could lead to a decrease in carrying capacity.
(Select all that apply)

undefined. A) Deforestation reducing habitat space ✓
undefined. B) Introduction of a new food source
undefined. C) Climate change affecting water supply ✓
undefined. D) Increased competition for resources ✓
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Scenarios that could lead to a decrease in carrying capacity include deforestation, climate change, and
increased competition for resources.

Analyze how a sudden increase in the death rate might affect the age structure of a population.

A sudden increase in the death rate may lead to a younger age structure as older individuals are
more likely to be affected.

Part 4: Evaluation and Creation

Which strategy would be most effective in reducing the environmental impact of a rapidly growing
population?

undefined. A) Increasing industrial output
undefined. B) Implement ing family planning programs ✓
undefined. C) Expanding urban areas
undefined. D) Encouraging higher birth rates

The correct answer is 'Implement family planning programs', which can help manage population growth.

Evaluate the potential impacts of climate change on global population dynamics. Which of the
following are likely outcomes? (Select all that apply)

undefined. A) Increased migration due to sea-level rise ✓
undefined. B) Higher birth rates in affected areas
undefined. C) Changes in agricultural productivity ✓
undefined. D) Greater frequency of natural disasters ✓

Likely outcomes include increased migration due to sea-level rise, changes in agricultural productivity, and
greater frequency of natural disasters.

Propose a sustainable development plan for a city experiencing rapid population growth. Include
considerations for resource management, infrastructure, and social services.

A sustainable development plan should address resource management, infrastructure
improvements, and enhanced social services to support the growing population.
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